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General Instructions :
(i)  This question paper contains two parts A and B.
(ii)  Part A is compulsory for all.

(iii) Part B has two options : Option — I Analysis of Financial Statements and Option — I
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.

W -
PART - A
(BTSrEr Wt et Tl oh foTe i)

(Accounting for Partnership Firms and Companies)

1. ‘Heg™ 6 F=aEar & uR | greer] & foged qun argerd wH & fomed § 3w
i | 1

Differentiate between dissolution of partnership and dissolution of a partnership firm on
the basis of ‘continuity of business’.

2. I AW U H UG § ATHGRI BH I foeed &1 ST 8 7 379 3T o THeH § HRu
it | 1

Does the change in profit sharing ratio result into dissolution of the partnership firm ?
Give reason in support of your answer.

3. TEfdEt 9UT SFAIS & YHHeeh W gU AT TS BT i WIeieR {98 3Tumd | sied 8

IR Ie0T@ hHIT | 1
State the ratio in which the partners share the gain or loss on revaluation of assets and
liabilities.

4. 3wk TS omEeT HRT AL R ? 1

What is meant by ‘Private Placement of Shares’ ?

5. EEt eren ey e 1
What is meant by ‘Hidden Goodwill’ ?
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6.  3TThIYT, T AT Wi Th HH o TTIER & qAT 3:2:2 & U H a1y dicd & | 1 Fraww,
2016 ! S T ¢&Td &l T | BH gRT 3oh FIsATeshl b1 ¢ FeT T T 60,000 2ft | B 3
75 Tolg foram o5 1 faawer, 2017 @ & swrer anfves foeai # 6% fd a9 i @@ & =
|fgd W T feharn ST |
TE % BT o THI IYUD TS ol oGl i o feTT U= Tfafeat Hifer | 1

Akash, Naveen and Zaid are partners sharing profits in the ratio of 3:2:2. Zaid died on
1** September, 2016. The total amount owed by the firm to his executors was ¥ 60,000.
The firm decided to pay him in three equal annual instalments carrying interest @6%
p.a. beginning with 1% September, 2017. Pass the journal entry for recording the above
transaction on the date of Zaid’s death.

7. BEH, T au gicht ueh wH % @TEigR & G 5 ¢ 3 ;2 % UM § A9 died & | 1 37,
2016 =1 AR <t ISft shAT:  5,00,000; T 3,00,000 TAT 3 2,00,000 ot | BF 370 T&eh
g 31 9T ol &5 LT B | 5 37, 2016 I Siefl 1 g &1 7 | 39 fafr =6t

() HH I TATM BT oA 30,000 T 7 qen
@) T i fafer 7o o @ § Sfeft o Wit 31 ToET 200 HE |
Eieft o IR 1 Teqd S o forw gfeft o1 §sht @rar dam hife | 3

Farhan, Hina and Dolly are partners in a firm sharing profits in the ratio of 5: 3 : 2. On
15" April, 2016 the capitals of the partners were : ¥ 5,00,000; ¥ 3,00,000 and  2,00,000
respectively. The firm closes its books on 31% March every year. Dolly died on 5™ April
2016.

On that date :
(a) Goodwill of the firm was valued at ¥ 30,000; and
(b) Dolly’s share of profit till the date of her death was calculated as I 200.

Prepare Dolly’s Capital A/c to be rendered to her executors.

8. ®nw, mfgd aur fifaa & w1 61 $a1 ISt T 1,00,000 B | st o ast 1 g @1 ¢
2013-14 % 40,000; 2014-15 % 46,000 dA1 2015-16 ¥ 52,000 AT | 2014-15 0z 3,000 £
T BT §8 | B <l @1 1 Joueh TUset i 991 o TEd o1y o 1 N o 3hd T
T AT | B Sl @1 Shi TUFT HIfST | 3
The total capital of the firm of Saurabh, Mohit and Nikhil was ¥ 1,00,000. The net
profits for the last 3 years were : 2013-14 ¥ 40,000; 2014-15 X 46,000 and
2015-16 % 52,000. There was an abnormal loss of ¥ 3,000 in 2014-15. Goodwill of the

firm was to be valued at 2 years purchase of the average profits of last three years.
Calculate the goodwill of the firm.
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fient farfiree = TR fafies 6t 2 2,40,000 6 Tt aum T 40,000 ht IATT
AW % 1,60,000 3 HoI T FRAT | T 10,000 T TTAH T HIE 49=Tq ¢F Teh o
TffehT ek TUT I T 100 Tedeh b U1 T |HaT 30 bl 50% o Sftem w fifia s
fopaT T | IWIE el & e fuent fetfirde it qeaenl & Stavaess Ut gfatsai
HIT |

Pico Ltd. took over the assets of ¥ 2,40,000 and liabilities of ¥ 40,000 of Rajware Ltd.
for a consideration of ¥ 1,60,000. ¥ 10,000 were paid by an acceptance payable after 3
months and the balance by issue of fully paid Equity Shares of ¥ 100 of a bill each at a
premium of 50%. Show the necessary journal entries for the above transactions in the
books of Pico Ltd.

et fefids 3 SHar 1 T 100 I & 16,000 THAT 3 T 20 Ifd 311 & Hiftm «
ETterd feR | 3T ST ST et SrehR | e o

3MEET |- 20

3TseA W — % 40 (Sferem wfeq) qun 9 vom v 3ifag I «@ |

AT gRT 15,000 319 3AfYeT fhT MU | 2,000 379N 6 Tk Uk, o qem qer Af<m
T T T & 16T, b1 Bigsht Tft T we 81 78 | 35eh 37901 T W01 KL fotarm 7 |
et fetfiree o feufa faawor 4 “arer 45t gurfsu | @i & Fied’ ot dam hife |

Vivo Ltd. offered 16,000 equity shares of I 100 each to the public at a premium of ¥ 20
per share. The amount was payable as I 20 on application; I 40 (including premium) on
allotment; and the balance on first and final call. 15,000 shares were subscribed by the
public.

All the money was duly received, except from a shareholder holding 2,000 shares who
failed to pay the first and final call money. His shares were forfeited. Show ‘Share
Capital’ in the Balance Sheet of Vivo Ltd. Also prepare ‘Notes to Accounts’.

TS AT TH ere H fefth Ja TeM i areft Teh %Y % drEier & | wre 1 3@ iR
e % 37 © 9gd 91 @1 99 ST 2 | SIS i kA o foTe 384 gea T foh 39
A SAfhal o wie fear T =Ry, St Foe =rear o o6 38 el o wge e
S ot @ H e fem ST | 999 3 386k v ged fean b af oy H 36k 319
o1 e ST d o8 s gUEH % g fereor i aearg TE T | Wred 38eh fore ey dan
BT | 37d: IaiH G THTE T ST STATA 1 1 : 2 % ST | g 1 o foram | 34
faafor =1 Trafrl g qaansti o1 gseareh foham T R T 3 18,000 1 @1 3T | 39
fefer =61 w6t @nfa <1 gexrme 3 1,20,000 ek T |

(F) ST o foTC wH 6t geaehl A 3MTaves UsHTH= STfear i |
(@) ITRE ATese | Teiid fohmal <t gl i oo oft hifsre |
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Bhavya and Naman were partners in a firm carrying on a tiffin service in Hyderabad.
Bhavya noticed that a lot of food is left at the end of the day. To avoid wastage she
suggested that it be distributed to the needy; Naman wanted that it should be mixed with
the food being served the next day. Naman then gave a proposal that if his share in the
profit is increased, he will not mind free distribution of left over food. Bhavya happily
agreed. So, they decided to change their profit sharing ratio to 1 : 2 with immediate
effect. On that date revaluation of assets and reassessment of liabilities was carried out
that resulted into a gain of ¥ 18,000. On that date the goodwill of the firm was valued at
% 1,20,000.

(a) Pass necessary journal entries for the above in the books of the firm.

(b) State any two values highlighted in the above para.

12, Hwer faafies = % 10 Wid 3791 6,000 3790 o1 S % 2 i 3791 sfifiem @ fifia fepw e &
% 3 v 371 Shi S| ATeT TR 1 YT T H T 0T B foram | g fope T 7t # |
300 379 <t T 8 Wil 3791 qut et qA: Frifira ot feam mmam |

37T o g0 qT G: e <ht sriavaes Usma=n sfafsar Sifsr | arer & st @rar o
IR BT | 4

Cemto Ltd. forfeited 6,000 shares of ¥ 10 each issued at a premium of < 2 per share for
the non-payment of final call of ¥ 3 per share. 300 of the forfeited shares were reissued
for ¥ 8 per share as fully paid up.

Pass necessary journal entries for the forfeiture and re-issue of shares. Also prepare
share forfeited account.

13. 371 TS HTeAT Ush BH o TSR 8 AT 2 : 3 % 7T § oy dfed 8 | 1 37, 2015 i 37
ISt @Td AR ¥ 35,000 T % 30,000 T I € @ U | FW 2015-2016 % SR 5 qAT
SHTSAT ST JTELT HA: T 8,000 TAT T 6,000 AT | ST TISTAT T HATEWT 1 SHeT, 2016 I
ToRar o o | STE ® 3§ 1A g foh 31 WIE, 2016 I HETH 5 9 < o7 31f<m @ duIR
A Gu T 1Sl bl e H T @ e 6
@) Uoft W 6% Ui e il W H =
(@) JATE R 6% Jfd a9 il g & =
(M) 2 %1 quf Iy o foTT 3 2,000 T HHIIH I o |

Tt SHRIRRY feoaforTi sl TT8 €9 | g §U BH <hl &dehi H Teh fgehtur Tfafd Shifdu |
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Shrey and Kavya are partners in a firm sharing profits in the ratio 2 : 3. Their capital
accounts as on April 1, 2015 showed balances of ¥ 35,000 and ¥ 30,000 respectively.
The drawings of Shrey and Kavya during the year 2015-2016 were < 8,000 and X 6,000
respectively. Both amounts were withdrawn on 1% January 2016. It was subsequently
found that the following items had been omitted while preparing the final accounts of
the year ended 31% March 2016.

(a) Interest on capitals @ 6% p.a.;
(b) Interest on drawings @ 6% p.a.;
(c) Shrey was entitled to a commission of I 2,000 for the whole year.

Showing your workings clearly, pass a rectifying entry in the books of the firm.

() 12% T oh A <6 fore ot S —¢ <l s wfafe <hifo

T fafiee 3 2 100 I 6 40,000, 12% SROT9ET 6l 09 10% Hiftem @ o |
T SRUTYSAT Rl INGT 5% b THIH WHET B |

@) BT & e W = % forw Ustm=n gfafsat Shif

() Tife fafies 3 2 100 T % T 4,00,000, 11% FHOTGT T N 110% W =
% 50 TcAeh o THAT 373N § YRETd ohieh fohaT | THAT A 1 10% o Hifem
¢ fomifare femerm e o |

(i) IR fefiee 3 G © 0 2 @ % T 1,000 T b 210, 13% FBOTTHT T
3 T 1,009 Tfet =01 fobam |

RO SNEF T, SRUTTS SeH e 9o ST <ht it T8 1 8 |

(a) Journalise the following transaction on issue of 12% debentures :

Mona Ltd. issued 40,000, 12% debentures of ¥ 100 each at a premium of 10%
redeemable at a premium of 5%.

(b) Journalise the following transactions on redemption of debentures :

(1)  Girid Ltd. redeemed X 4,00,000, 11% debentures of I 100 each at 110% by
converting them into equity shares of ¥ 50 each issued at a premium of 10%.

(i) Uniner Ltd. purchased its own 210, 13% Debentures of ¥ 1,000 each
at ¥ 1,009 per debenture for immediate cancellation.

Ignore entries for Debenture Redemption Reserve, Debenture Redemption
Investments and Interest.



15, foges @ # fafay gt (e ®l Bige) a1 T 987 SIS i TIFARd HH &
YT 31 9T, 2016 1 3T qen o 6 w1 & foges w f et & fow smavas
TS WSSl ShIT | o AT -7 3 : 2 % 39T § dfed o | 6

@) Terares wferan ot o < foru W 61 7 23,000 9@ fierm | 95 foages == aga wE
fore oft G 21 T 1 210,000 fergrest St ST ST WS 3w S ek @ foRa |

@) TH [H e, rae s 2 60,000 % @+ wd a¥ god &0 & &9 A
JafIRaa st feam T o, 3 90% 1 P foha |

(M) ¥ 40,000 % THERI 7 379 T& % 01 9 &g ¥ 38,000 T BTl o1 WHhHR
o |

() Y[ AT I i Th CATA o HIEIH & T 3,00,000 H s=1 71 FS18 2% SHeter o |

®) fowm fafies & T 40 98 & 500 3 &, T2 T 22,000 i A0 W e T a1 9
ekl O U §Y § STAfeRad L T T o | 39 37 1 3 Yo 50 Uid 379 7
T 32 WISIER] o HE Ieh oW JATa o e fean |

(@) Terered w3 45,000 1 AT 3T |

Give the necessary journal entries for the following transactions on dissolution of the
firm of Anita and Ravi on 31% March 2016, after the various assets (other than cash) and
the third party liabilities have been transferred to Realisation Account. They shared
profits and losses in the ratio 3 : 2.

(a) Ravi was to get a remuneration of ¥ 23,000 for completing the dissolution process.
He also agreed to bear realization expenses. Realisation expenses of ¥ 10,000 were
paid by Ravi from the firm’s cash.

(b)  Amitesh, an old customer whose account for ¥ 60,000 was written off as bad debt
in the previous year, paid 90%.

(¢) Creditors of ¥ 40,000, accepted furniture valued at ¥ 38,000 in full settlement of
their claim.

(d) Land and Building was sold for ¥ 3,00,000 through a broker who charged 2%
commission.

(¢) There were 500 shares of ¥ 40 each in Vision Ltd., acquired at a cost of I 22,000
and had been written off completely from the books. These shares are now valued
at I 50 each and divided among the partners in their profit sharing ratio.

(f)  Profit on realization was ¥ 45,000.
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ST U A T 10 T3 o 1,20,000 TAT 37901 1 3 2 Wha 3791 % Wit W fifia &
% forq 3mmeren amafaa fe | Tfdn 1 e et SeRR & e o

3MeEd W — ¥ 3 ¥fd 3191 (3 1 iftrew |feaq)

JTee W — T 3 Uf 37

T qAT AT AT W — % 6 Ifd 3791 (3 1 Hiftem wfza)

1,40,000 371 % feTT 3TTergH 9T T | 10,000 37T o foTw 3TreieHt bl T8 &L feam mam qen

I TG ol ST STUR W 3T L feam m | e e ifafes afsn =

THRISH 376 W eF TR H &t foran | |eft Jreemd o <ft 78 qen 91" 81 78 had

I ! BIgh [ 3T JTETed 6,000 3T W ATeH AT 3Afad AT 1 P gl

foRa | 3 37eT 1 BT KL form TR | 3k v g1 foRU T 3Tt § ¥ oMY 37w

333,000 ® qui Y@ g Fifera s fezm mmm |

IHIRE AT o ToTT SteTeh fetfireg <l qadent & 3trargeres U= wfafsar Hifs |
CLE

e fafiee 3 2 100 I & 54,000 37901 & 0 & fou 3teres smwfia feeg | ufy
e ysrR g e off :

JTeeT W — T 50 Ifd 3w
JATEA W — T 10 gf A9
T Td ST~ IM=ET W — I

80,000 3791 o TTT 3TTeEH I §W | 14,000 3721 3 ITTCIGhI hl 0T HTE L T
TR | Y SATAEeh! 1 STHTIAh STER T 40,000 3TN T 3TMEH L fG@1 T | 3EeT W
e ATfh TR 1 GURISH 3TeeT qe IreHT W eF TR H o foram mam |
favir, & 9™ 1200 391 A, 3TTeGH b 39 o § FEEfra o T8 37 6 et aneed
ToRa TRIT T, A AT TR /T AN ST o G L fean | fagy, sTei o 3| o 9
grafrd o1, T8 3791 &1 SA1eed U YR TR 71 o1, 5 3794 400 37N W
TG o T IS T a1 oA | S AT AT~ A= T o 9= forgl o 3791 ot
01 L o T | e W aeft g fopw Tw 3ren Wl % 110 Wi 37 ot wew g fifa o
ez |
TET YT &l 3 Aol WAl a7 M Ire-T @il @idehl W oFedl & o
Siaed fafiee i geael § STTevae ISHm=T Tfafsar i |
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Benolac Paints Ltd. invited application for issuing 1,20,000 equity shares of X 10 each at

a premium of X 2 per share. The amount was payable as follows :
On application — X 3 per share (including premium < 1)

On allotment — % 3 per share.

On first and final call — 6 per share (including premium < 1)

Applications for 1,40,000 shares were received. Applications for 10,000 shares were
rejected and pro-rata allotment was made to the remaining applicants. Over payments on
application were adjusted towards sums due on allotment. All calls were made and were
duly received except allotment and final call on 6,000 shares allotted to Sharvi. These
shares were forfeited. Afterwards, half of the forfeited shares were re-issued for
T 33,000 as fully paid up.

Pass necessary journal entries for the above transactions in the books of Benolac Paints
Ltd.

OR

Bayson Ltd. invited applications for issuing 54,000 shares of ¥ 100 each payable as

follows :

T 50 per share on application

% 10 per share on allotment

Balance on first and final call. Applications were received for 80,000 shares.

Full allotment was made to the applicants of 14,000 shares. The remaining applicants
were allotted 40,000 shares on pro-rata basis. Excess money received with application

was adjusted towards sums due on allotment and call.

Vibhor, holding 1,200 shares, who belonged to the category of applicants to whom full
allotment was made, paid the call money at the time of allotment. Vidur, who belonged
to the category of applicants to whom shares were allotted on pro-rata basis did not pay
anything after application on his 400 shares. Vidur’s shares were forfeited after the first
and final call. All the forfeited shares were later on re-issued at I 110 per share as fully

paid up.

Pass the necessary journal entries in the books of Bayson Ltd. for the above transactions

by opening calls in arrears and calls in advance account wherever necessary.

67/3 9 [P.T.O.
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ST AT FoW TR & TUT 3 : 2 o 31UTd H o9 sied & | 31 W7, 2016 i 3T fefa

Tfr Tfr

®) ®)
Hfex <l Yft 11,40,000 | 3fty o wet 5,60,000
T <6 goft 7,00,000 | H=3 a2 Hefdl 6,00,000
HIER &fagfd g== 60,000 | Tish 1,60,000

TR 1,00,000 | TR 6,00,000

TIYEIE 20,000 | 5,80,000
EED 1,00,000
20,00,000 20,00,000

1 3T, 2016 1 I TAUT T 7 FUFT 1 Teh AT ATER S b1 01 ToF2T | ITehT 11
ATH AT 3 : 2 1 5 T | FOHAT 379 Goit o 7Tt % 6,00,000 T TATHT SR 361 37T |

TIE TG |

() T o AT SR < WIT T Jearehd T 30,000 TehdT 70T |

(@) TIF T TR T AT 125% T et 7T |

(M) T 30,000 o TTERI BT TRGT T& TR =T T |

() IR afayfd grer T 40,000 T |

HTR WA, HTSERT o Yol W a2 gited wH o1 e foemor dam Hifsm |

YAl
10




Shi-ehT, feuT TUT e ARIER A qAUT 2 : 1 : 1 % 79 H o sed o | 31-3-2016
3I7ehT TR ferawor ft yeme & ot

Liabilities Amount Assets Amount
() ()

Qadir’s Capital 11,40,000 | Land & Building 5,60,000

Rishab’s Capital 7,00,000 | Plant & Machinery 6,00,000

Workmen’s Compensation Reserve 60,000 | Stock 1,60,000
Creditors 1,00,000 | Debtors 6,00,000

Less Provision _ 20,000 | 5,880,000

Bank 1,00,000

20,00,000 20,00,000

67/3 11 [P.T.O.

. T . T
et gt

® (9]
ST THER 53,000 | seh 60,000
et wiasy fafy 47,000 | eHeR 60,000
Shi-ehT T daft 2,00,000 | =i 1,00,000
fem <6t & 1,00,000 | Trreft Tt 2,40,000
SHeflT T ISh 80,000 | AT-gT @ 20,000
4,80,000 4,80,000

1-4-2016 b1 hi-ehT 3 3TeThI TR TohT | 30 1 o foTT et TaT=ISHT W Tafd s+

(%h)

®H < ST T YooTeh TN TE i § Y4 b o1 q0T a1 o ST A1 6 &

YT o hd oh SATYR W ThIT 7T | 99 2013-14 &1 19 2 1,00,000 9T 2014-15 <1

19 % 1,30,000 T |
@)
Q)
(=)

Tt TR Wi 2 3,00,000 066 SR STRAT |
(e o JedTeh 120% T Topam S |
IRl hl < TR hT TATATT IHeh KT WTd H T feIT T |

e T, ARt 3 o R de g o e e o i |

Qadir and Rishab are partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as

at 31% March, 2016 is given below :




67/3

Qadir and Rishab decides to admit Sapna as a new partner from 1% April, 2016. Their
new profit sharing ratio was 3 : 2 : 5. Sapna brought in ¥ 6,00,000 as her capital and her

share of goodwill premium in cash.

(a) Sapna’s share of goodwill premium was valued at ¥ 30,000.
(b) Plant and Machinery be valued at 125%.

(¢) Creditors were unrecorded to the extent of ¥ 30,000.

(d) Claim on account of workmen compensation was ¥ 40,000.

Prepare Revaluation A/c., Partners’ Capital Accounts and the Balance Sheet of the

reconstituted firm.
OR

Kanika, Disha and Kabir were partners sharing profits in the ratio of 2 : 1 : 1. On
31-3-2016, their Balance Sheet was as under :

Amount Amount
Liabilities Assets
() ()
Trade creditors 53,000 | Bank 60,000
Employees’ Provident Fund 47,000 | Debtors 60,000
Kanika’s capital 2,00,000 | Stock 1,00,000
Disha’s capital 1,00,000 | Fixed assets 2,40,000
Kabir’s capital 80,000 | Profit & Loss A/c. 20,000
4,80,000 4,80,000

Kanika retired on 1-4-2016. For this purpose, the following adjustments were agreed

upon :

(a) Goodwill of the firm was valued at 2 years’ purchase of average profits of three

completed years preceding the date of retirement. The profits for the year :
2013-14 were T 1,00,000 and for 2014-15 were 3 1,30,000.

(b) Fixed assets were to be increased to < 3,00,000.

(c) Stock was to be valued at 120%.

(d) The amount payable to Kanika was transferred to her loan account.

Prepare Revaluation Account, Capital Accounts of the partners and the Balance Sheet of

the reconstituted firm.
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0 -9
PART - B
CET i |

Option — I

(fercirar feraront =1 fergeten)

(Analysis of Financial Statements)

Uhe e HI R AL g ?

What is meant by ‘Cash Equivalents’ ?

) nifaferfy =51 g T e i, S uces TR & 3w & foe fan nfafafr adi e 1 1

Give any one example of an activity, which is an investing activity for every type of

enterprise.

31 1T, 2015 AAT 2016 ! THE §C a9 o for w1 fafiee & fm= amv-grf faawo & v

I 37T fereror aamr <hifre -
2015-16 | 2014-15
e
feerzom ‘ T Tt
oo
Q) ®)
Y=o 9 3T 30,00,000 | 20,00,000
= 12,00,000 | 10,00,000
3T ™ 3,60,000 | 4,00,000
STIHT 50% 40%
13

[P.T.O.



From the following Statement of Profit and Loss of Sun Ltd., for the years ended
31° March, 2015 and 2016, prepare a Common Size Statement :

2015-16 2014-15
. Note
Particulars N Amount Amount
0.
®) ®)
Revenue from operations 30,00,000 | 20,00,000
Expenses 12,00,000 | 10,00,000
Other incomes 3,60,000 4,00,000
Income Tax 50% 40%

21, () e rfafm, 2013 6 g 101 AR = wel i feufa foewon & g sfivs
U1 39-3fives (AfG 7) o aficha HIfTT :

() A0m uTH 3T qen
(i) gSteTa R |
(@) “Torfta feraroti = forgetwor’ <l foh=gl ql HIHT3TI oAl et SHIT |
(a) Classify the following items under Major Head and Sub-Head (if any) in the
Balance Sheet of a company as per Schedule III of the Companies Act, 2013 :
(1) Income received in advance; and

(i) Capital Advances.

(b) State any two limitations of ‘Analysis of Financial Statements’.

22. (%) AN AYT HL UYE Teh HET T g A9 T 1,20,000 AT | TR T €T 40% 7 |
T % 3 1,00,000 % 10% 09 o |

TS JTERT 31U hi TUMET SHIFTT |
(@) T B Faferd e gEat & wieh 31med STaTd <l 0T Hife

JfRTh T2leh T 20,000; 3faH Fieh T 22,000; 367 T 80,000; TGl T 9,000; ST
TSI % 2,000; 363 STHET % 1,000; T=TEH 8 3T % 80,000; 3TEeh |T=T % 4,000;
fertra 7 5,000.
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(a) The net profit after interest and tax of a company was ¥ 1,20,000; Rate of income
tax is 40%. The company has 10% debentures of I 1,00,000. Calculate interest
coverage ratio.

(b) From the following information related to a company calculate inventory turnover
ratio : Opening inventory ¥ 20,000; Closing inventory I 22,000; Purchases
T 80,000; Wages X 9,000; Carriage outwards < 2,000; Returns outwards I 1,000;
Revenue from operations ¥ 80,000; Carriage inwards < 4,000; Rent ¥ 5,000.

23. T g @ e nfafafemn & e warg i o Shifr 6
319, 2015 319, 2014
T
(9] (9]
S fAfee & 3790 § faw 15,00,000 5,00,000
9% Erdehlet o 1,50,000 5,00,000
I3 Ug Hi4 4,00,000 3,00,000
i 420,000 2,40,000
FAfafed =

(i) SHeE fAfes & 9% T ITH g3 |

(i) ¥ 30,000 WA I T T (FF W T 5,000 T JeIgE T T T)
3 40,000 H fershar o6t fezrm T | 9 o6 SR % 5,000 HoTgT @RI TR |

Calculate Cash Flows from Investing Activities from the following information :

31t March 2015 | 315t March 2014
Particulars
) )
Investments in Shares of Janex Ltd. 15,00,000 5,00,000
9% Long term Investments 1,50,000 5,00,000
Plant and Machinery 4,00,000 3,00,000
Goodwill 4,20,000 2,40,000

Additional information :
(1) 9% dividend was received from Janex Ltd.

(1)) A machine costing ¥ 30,000 (depreciation provided thereon I 5,000) was sold
for X 40,000. Depreciation charged during the year was I 5,000.
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19.

20.

21.

22.

23.

67/3

-9
PART -B

ferbed — 11
Option - I1

(IR EACERSICICE)
(Computerized Accounting)
TR grT I Gleren YeH i AT g 7

What facility is provided by a ‘Query’ ?

‘S hIg’ 1 1 37 3 7

What is meant by ‘Block Code’ ?

TG HIFRAIR b A & qd 4 H W@ TH dTet foheal &1 am=r (S wfawat
I THETST |

Explain any two generic considerations before sourcing an accounting software.

Y= ®Y ¥ 3Ucsy fohgl <l <1.1.UH.T8. iR & AF dfore a1 S, th.ug. &
Topegl 1 e bl THETST |

Give the names of two commonly available DBMS software and explain any three
advantages of DBMS.

HrE{hd TRETh JUITCH o fohral of Tl aT fohegl @ SHT3TT Sl Ioohd hiT |

State any two advantages and any two limitations of computerized accounting system.

39 3fg < TEEE Hife S 30 Ty femE <t § S9 ol wrl & wifen § sy
AT e BId & | 59 TG 1 ThH TR G Tehal ST Hoha1 @ 7

Identify the error which appears when there are invalid numeric values in a formula
for function. How this error can be removed ?
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